IR (=T « EN)

BE Y v MY —{EER

1/ 1

BEfE A4 . SERR284ELILA13H (H)
BRI - HEANVT 4B BN 40N (BB 32K - ik - 8N)
HDCP E R :
=R ouT IN
FIERLIRE © A (REWIE) - 7 1 X UNEWIE) FR : ERk284£11H20H (H)
JIE 57 BN 4 oUT IN GROSS | HDCP NET it &
IR v =, 38 39 77 12.0 65.0
2 L | /MR ST 48 50 98 32.0 66. 0
3 | Wil LT 46 47 93 27.0 66. 0
4 fr | =F i+ 45 44 89 19.0 70.0
5 fL |JFH 38 50 43 93 22.0 71.0
6 A7 | KR {51 41 43 84 12.0 72.0
7 | i ZRek 45 55 100 28.0 72.0
8 Nr | fal & 48 54 102 29.0 73.0
9 {7 | /B #sh 50 47 97 24. 0 73.0
10 7 | =k 28 49 46 95 21.0 74.0
11 {7 | 50 #i5% 52 54 106 32.0 74.0
12 i | KH E— 54 54 108 33.0 75.0
13 fir | 1A HE 54 58 112 37.0 75.0
14 {7 | M4 51 53 53 106 30.0 76.0
15 7 | RN IE% 45 46 91 15.0 76.0
16 7 [#2)I] —HB 59 49 108 32.0 76.0
17 7 | B F#A 52 46 98 22.0 76.0
18 fif | K —K 47 40 87 11.0 76.0
19 fir | KI5 40 43 83 7.0 76.0
20 {7 | FEH 72 KER 55 56 111 32.0 79.0
21 L | fet PRER 43 50 93 14.0 79.0
22 fr | VR HiE 54 57 111 31.0 80.0
23 L |f&7r 1E 50 48 98 18.0 80.0
24 fr | BA FEZ 51 54 105 24. 0 81.0
25 {7 | fEA 1E 48 49 97 16.0 81.0
26 A7 | (L FEESR 49 48 97 16.0 81.0
27 | FiE BliR 58 57 115 33.0 82.0
28 L |0 RS 51 45 96 14.0 82.0
29 fir | &y 5L 53 56 109 26. 0 83.0
30 A7 | A EHRT 57 59 116 32.0 84. 0
31 fif | =% HAT 50 50 100 16.0 84.0
32 fif | EE RS 62 58 120 35.0 85.0
33 L | KA ZEH 54 57 111 26.0 85.0
34 L | Al FR 49 53 102 17.0 85.0
35 AL | Ik AR 52 52 104 19.0 85.0
36 Ni\f | MEA I 56 44 100 15.0 85. 0
37 L | IaF EET 51 48 99 14.0 85. 0
38 fif | = —il 49 54 103 15.0 88.0
39 i | Wbl &6 57 58 115 27.0 88.0
40 {7 | RIS HESF 58 63 121 24. 0 97.0




